Sending Print Job:A Comparison Between LocalTalk & Direct Serial
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How can | determine the time difference between sending a print job from an
M5- DOS conmputer to a Personal LaserWiter NTR via a serial port connection
and an via an Appl eTal k connection?

DI SCUSSI ON = - = = = = = =« = = x w o m ot o md e

Usi ng 50K of data as an exanple, and assum ng that you have a theoretically
perfect AppleTal k network using Local Tal k (230 Kbaud per second) with no
other traffic, it takes approximately 2 to 3 seconds to send 50K over an
Appl eTal k/ Local Tal k network to anot her node, once the conmunication has
been established with that node.

An Appl eTal k Printer Packet consists of 617 bytes per packet, which equals
586 bytes of data and 31 bytes used for overhead. To deternine how long it

takes to send the 50K of data, use these cal cul ations:

1) Calcul ate the nunmber of packets needed by dividing the nunber of data
bytes to be sent by the nunber of data bytes per packet.

50, 000 bytes divided by 586 bytes = 86 packets required
2) Multiply the nunber of overhead bytes by the nunber of packets.
31 bytes x 86 = 2666 bytes of overhead

3) Convert the nunber of data bytes and overhead bytes to bits by
nmul ti plying each nunber by 8 (8 bits per byte).

50, 000 bytes x 8 = 400,000 bits of data
2,666 bytes x 8 21,328 bits of overhead

4) Calculate the total information to be sent by adding the data bits to
the overhead bits:

400, 000 (data) + 21,328 (overhead) = 421,328 bits of information



5) Calculate the tinme it'll take to send the total bits of infornation by
di vidi ng that nunber by 230,400 bits per second (Local Tal k speed).

421, 328 divided by 230,400 = 1.8 seconds

It takes about 8 seconds to send the sane 50K of data through a direct
serial connection at 57.6 Kbaud (8 data bits, 1 Stop bit, and so on).

At the 50K data level, there isn't an appreciable difference in the anmpunt
of time it takes to send the information to the Personal LaserWiter NTR
However, as the print jobs get larger, the tinme savings would be

noti ceabl e. For exanple, a 50-page docunent at 50K per page woul d take
approximately 3 mnutes longer to send via a serial connection

Keep in mnd that these calcul ations don't take into consideration the
amount of tine necessary for the printer to process the job. Mich of the
time required during the printing process is the actual tine the printer
requires to process the page. And, depending on the type of print job
(text or graphics) being processed, the printer nmay not be able to process
the entire job at once and nay need to process the job in chunks page by
page.
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